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ALGEBRIC EXPRESSIONS

Exercise

1. Find the rule which gives the number of

matchsticks required to make the pattern: A

pattern of letter H

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_Gtewxa4QBbLf


Watch Video Solution

2. Find the rule which gives the number of

matchsticks required to make the pattern: V

Watch Video Solution

3. Draw the next two figures in the pattern

above.

https://dl.doubtnut.com/l/_Gtewxa4QBbLf
https://dl.doubtnut.com/l/_Kn6vQKAOcN32
https://dl.doubtnut.com/l/_OsUkssjcsYt6


Watch Video Solution

4. fill the table given below and express the

pattern in the form of an algebraic expression.

Watch Video Solution

5. fill the table given below and express the

pattern in the form of an algebraic expression.

https://dl.doubtnut.com/l/_OsUkssjcsYt6
https://dl.doubtnut.com/l/_zaiPvylF3h6x
https://dl.doubtnut.com/l/_ojZCYcRhr9aA


Watch Video Solution

6. Write the expressions in statement: 

Watch Video Solution

x + 3

7. Write the expressions in statement: 

Watch Video Solution

y − 7

https://dl.doubtnut.com/l/_ojZCYcRhr9aA
https://dl.doubtnut.com/l/_JWr2htOIKgDa
https://dl.doubtnut.com/l/_hxpB1kKmWYc7
https://dl.doubtnut.com/l/_Z5COQQ4MjWow


8. Write the expressions in statement: 

Watch Video Solution

10l

9. Write the expressions in statement: 

Watch Video Solution

x

5

10. Write the expressions in statement:

Watch Video Solution

3m + 11

https://dl.doubtnut.com/l/_Z5COQQ4MjWow
https://dl.doubtnut.com/l/_Nf4qriXeAFj9
https://dl.doubtnut.com/l/_PZd4Rm6onkFT


11. Write the expressions in statement: 

Watch Video Solution

2y − 5

12. Write the statement using variables,

constants and arithmetic operations: 6 more

than p.

Watch Video Solution

https://dl.doubtnut.com/l/_PZd4Rm6onkFT
https://dl.doubtnut.com/l/_O9rhUIInCVNc
https://dl.doubtnut.com/l/_0lixlkiwV4Wf


13. Write the statement using variables,

constants and arithmetic operations: x is

reduced by 4.

Watch Video Solution

14. Write the statement using variables,

constants and arithmetic operations: 8

subtracted from y.

Watch Video Solution

https://dl.doubtnut.com/l/_2uDLAoI8t9Kf
https://dl.doubtnut.com/l/_i8ecDotXqmUz
https://dl.doubtnut.com/l/_gkPRARDzBigq


15. Write the statement using variables,

constants and arithmetic operations: q

multiplied by 

Watch Video Solution

−5

16. Write the statement using variables,

constants and arithmetic operations: y divided

by 4.

Watch Video Solution

https://dl.doubtnut.com/l/_gkPRARDzBigq
https://dl.doubtnut.com/l/_X9M2Gy6Qd8sN
https://dl.doubtnut.com/l/_MumAddHaJAF6


17. Write the statement using variables,

constants, and arithmetic operations: one-

fourth of the product of p and q.

Watch Video Solution

18. Write the statement using variables,

constants and arithmetic operations: 5 added

to the three times of z.

Watch Video Solution

https://dl.doubtnut.com/l/_MumAddHaJAF6
https://dl.doubtnut.com/l/_Us28VSUm3LPT


19. Write the statement using variables,

constants and arithmetic operations: x

multiplied by 5 and added to 10

Watch Video Solution

20. Write the statement using variables,

constants and arithmetic operations: 5

subtracted from two times of y.

Watch Video Solution

https://dl.doubtnut.com/l/_aBs305GABaaA
https://dl.doubtnut.com/l/_Dvviarqt92hm
https://dl.doubtnut.com/l/_L74B86YxzOAs


21. Write the statement using variables,

constants and arithmetic operations: y

multiplied by 10 and added to 13.

Watch Video Solution

22. State the number in situations is a variable

or 

constant? The number of days in the month 

of January.

Watch Video Solution

https://dl.doubtnut.com/l/_L74B86YxzOAs
https://dl.doubtnut.com/l/_j7dUQABwyObs


23. State the number in situations is a variable

or 

constant? The temperature of days in the 

Month of January.

Watch Video Solution

24. State the number in situations is a variable

or 

constant? The Length of your classroom.

Watch Video Solution

https://dl.doubtnut.com/l/_w7YulfnkjPGe
https://dl.doubtnut.com/l/_7ezY7Roq2y3E


25. State the number in situations is a variable

or

constant? The Height of the growing plant.

Watch Video Solution

26. Write the statement using

variables,constants and arithmetic operations:

5 more than 2y.

Watch Video Solution

https://dl.doubtnut.com/l/_7ezY7Roq2y3E
https://dl.doubtnut.com/l/_xwx9gXvjaaAt
https://dl.doubtnut.com/l/_EOIqSWdAe5JZ


27. Write the statement using

variables,constants and arithmetic operations:

y reduced from 19.

Watch Video Solution

28. Write the statement using

variables,constants and arithmetic operations:

3y divided by 7.

Watch Video Solution

https://dl.doubtnut.com/l/_JLgbSy1Lq0jQ
https://dl.doubtnut.com/l/_lZDsRz5ZR1Wq
https://dl.doubtnut.com/l/_QFSVOwN9c4H9


29. Write the statement using

variables,constants and arithmetic operations:

y multiplied by 3 and 10 is added.

Watch Video Solution

30. Write the statement using

variables,constants and arithmetic operations:

one fifth product of x and 2y.

Watch Video Solution

https://dl.doubtnut.com/l/_QFSVOwN9c4H9
https://dl.doubtnut.com/l/_DuvNg0R4zTHl
https://dl.doubtnut.com/l/_d6BRtJiq8yXh


31. The Symbolic form of :  multiplied by 7

is........

Watch Video Solution

P

32. The Symbolic form of : 8 more than z is.....

Watch Video Solution

33. The Symbolic form of : one fourth of xy

is.......

Watch Video Solution

https://dl.doubtnut.com/l/_d6BRtJiq8yXh
https://dl.doubtnut.com/l/_D37cutHzkHyC
https://dl.doubtnut.com/l/_ZMCqx34zSVjU


34. The Symbolic form of :7 added to 2 times

of q is ........

Watch Video Solution

35. The Symbolic form of : x multiplied by 3

and 

10 is subtracted is.......

Watch Video Solution

https://dl.doubtnut.com/l/_ZMCqx34zSVjU
https://dl.doubtnut.com/l/_2b00AgHJd0zf
https://dl.doubtnut.com/l/_llR3W5QSNwKp
https://dl.doubtnut.com/l/_9EvAIyNSGySO


36. The Symbolic form of : 3 times of pq is.....

Watch Video Solution

37. Additional bits: Statement of 2-p is.......

Watch Video Solution

38. Additional bits: Statement of  is.....

Watch Video Solution

7l

https://dl.doubtnut.com/l/_9EvAIyNSGySO
https://dl.doubtnut.com/l/_04DKw4gA7PL4
https://dl.doubtnut.com/l/_UuNbz4huJelI
https://dl.doubtnut.com/l/_O8hRMulTNhIS


39. Additional bits: Statement of 2-p is.......

Watch Video Solution

40. Write the expressions in statement: 

Watch Video Solution

x + 3

41. Write the expression in statement: 20p

Watch Video Solution

https://dl.doubtnut.com/l/_O8hRMulTNhIS
https://dl.doubtnut.com/l/_I0YN4luUQ5oB
https://dl.doubtnut.com/l/_zIYVmxs85j69
https://dl.doubtnut.com/l/_IxGKXKuyqqHC


42. Write the expression in statement: 

Watch Video Solution

y

7

43. Write the expressions in statement: 

Watch Video Solution

2y − 5

44. In the expression given identify all the

terms: 

Watch Video Solution

5x2 + 3y + 7

https://dl.doubtnut.com/l/_IxGKXKuyqqHC
https://dl.doubtnut.com/l/_aVSs1hU96Tnv
https://dl.doubtnut.com/l/_GvDgi0YFWzhV


45. In the expression given identify all the

terms: 

Watch Video Solution

5x2y + 3

46. In the expression given identify all the

terms: 

Watch Video Solution

3x2y

https://dl.doubtnut.com/l/_GvDgi0YFWzhV
https://dl.doubtnut.com/l/_00OIuZmNtOg1
https://dl.doubtnut.com/l/_pk69joTU2ZPz


47. In the expression given identify all the

terms: 

Watch Video Solution

5x − 7

48. In the expression given identify all the

terms: 

Watch Video Solution

5x + 8 − 2( − y)

https://dl.doubtnut.com/l/_WraRI3bck8cU
https://dl.doubtnut.com/l/_hpZdoxptTxTn


49. In the expression given identify all the

terms: 

Watch Video Solution

7x2 − 2x

50. Group the like terms together: 12x, 12, 24x,

-25, 25y,1,x,12y,y,56xy, , 2xy, 4, 5x

Watch Video Solution

3x2y

https://dl.doubtnut.com/l/_HftZP2bDmNPH
https://dl.doubtnut.com/l/_4wmJ3IvtuUVJ


51. State true or false and give reasons for

your answer:  and 5x are unlike terms

Watch Video Solution

4x3

52. State true or false and give reasons for

your answer:  and  are like terms

Watch Video Solution

5pq2 −3pq2

https://dl.doubtnut.com/l/_4TWt9phWpgDd
https://dl.doubtnut.com/l/_OM3xoOLxJa7k


53. State true or false and give reasons for

your answer: 3xy,  and are like

terms.

Watch Video Solution

−2x2y −4xy2

54. What is the numerical coefficient of 9x?

Watch Video Solution

55. What is the numerical coefficient of -76y?

https://dl.doubtnut.com/l/_YppZEfsAHSGA
https://dl.doubtnut.com/l/_iRoOHFppdrdv
https://dl.doubtnut.com/l/_OCssbK5tylQr


Watch Video Solution

56. What is the literal coefficient of 8y?

Watch Video Solution

57. Identify the expressions given as monomial,

binomial, trinomial and multinomial: 4x+5y-

7+3z

Watch Video Solution

https://dl.doubtnut.com/l/_OCssbK5tylQr
https://dl.doubtnut.com/l/_zmQ8tDeLXpoy
https://dl.doubtnut.com/l/_7izEDHZ1AgHf
https://dl.doubtnut.com/l/_pCPGFPLiQY3X


58. Identify the expressions given as

monomial, binomial, trinomial and

multinomial: 7z-3

Watch Video Solution

59. Give two examples of algebraic and

numeric expression.

Watch Video Solution

https://dl.doubtnut.com/l/_pCPGFPLiQY3X
https://dl.doubtnut.com/l/_0v81dP08VGQq


60. Identify the expressions given as

monomial, binomial, trinomial and

multinomial: 

Watch Video Solution

4x2 + z + 3

61. Identify the expressions given as monomial,

binomial, trinomial and multinomial: 5xy-6

Watch Video Solution

https://dl.doubtnut.com/l/_SdfrkofyAdyu
https://dl.doubtnut.com/l/_E5sXiXpjhgOm


62. Identify the expressions given as

monomial, binomial, trinomial and

multinomial: `5xy+6x-3

Watch Video Solution

63. Identify the expressions given as

monomial, binomial, trinomial and

multinomial: 

Watch Video Solution

ab + 3x − xyz + xz

https://dl.doubtnut.com/l/_jvNtZdmw0CjL
https://dl.doubtnut.com/l/_Rh7U8YgduCpG
https://dl.doubtnut.com/l/_hJJauvqHq9ZV


64. How many terms are there in: 

Watch Video Solution

x + y − 5

65. How many terms are there in: 

Watch Video Solution

6x − 4x − 7

66. How many terms are there in:

Watch Video Solution

3x2 + 6x − 3

https://dl.doubtnut.com/l/_hJJauvqHq9ZV
https://dl.doubtnut.com/l/_D1JZNwLG7ePF
https://dl.doubtnut.com/l/_In4rQYNIVZLQ


67. How many terms are there in: 

Watch Video Solution

x2yz + 7

68. How many terms are there in: 

Watch Video Solution

7y2x

69. How many terms are there in: 

Watch Video Solution

4x + 8 + 5y

https://dl.doubtnut.com/l/_In4rQYNIVZLQ
https://dl.doubtnut.com/l/_CvGhlXwVZbLu
https://dl.doubtnut.com/l/_ct8tetcBjuIC
https://dl.doubtnut.com/l/_pPNnElyDVtNv


70. How many terms are there in: 

Watch Video Solution

5x −
5

2

71. How many terms are there in: 

Watch Video Solution

6 + 4x

72. How many terms are there in: 

Watch Video Solution

8y − 4

https://dl.doubtnut.com/l/_pPNnElyDVtNv
https://dl.doubtnut.com/l/_muoziFwvlTgG
https://dl.doubtnut.com/l/_YqcKxHKz4LIm
https://dl.doubtnut.com/l/_MeKxC2EjgK6e


73. How many terms are there in: 

Watch Video Solution

7x − 35

74. Identify and write the like terms in:

Watch Video Solution

a2, − 2a2, c2, 5a, 3c2, 10a

https://dl.doubtnut.com/l/_MeKxC2EjgK6e
https://dl.doubtnut.com/l/_Bv5iIJD7HJa0
https://dl.doubtnut.com/l/_9wHTZ5q2cSaC


75. Identify and write the like terms in: 3a,4xy,-

yz,2zy

Watch Video Solution

76. Identify and write the like terms in:

Watch Video Solution

−2xy2, x2y, 5y2x, x2z

https://dl.doubtnut.com/l/_N0LRMo46LwNv
https://dl.doubtnut.com/l/_pwmSqjSmR9Hu


77. Identify and write the like terms in: 7p, 8pq,

-5pq, -2p, 3p

Watch Video Solution

78. What is the degree of the monomial : 7y

Watch Video Solution

79. What is the degree of the monomial :

−xy2

https://dl.doubtnut.com/l/_FM6zVWxV9Sw7
https://dl.doubtnut.com/l/_SPE8F38EpuBV
https://dl.doubtnut.com/l/_0Y1lw4ejm4hw


Watch Video Solution

80. What is the degree of the monomial :

Watch Video Solution

xy2z2

81. What is the degree of the monomial :

Watch Video Solution

−11y2z2

https://dl.doubtnut.com/l/_0Y1lw4ejm4hw
https://dl.doubtnut.com/l/_wb3jD9ZxrJp6
https://dl.doubtnut.com/l/_TFusjzaDThuo
https://dl.doubtnut.com/l/_9zhnx5k13Q6o


82. What is the degree of the monomial : 3mn

Watch Video Solution

83. What is the degree of the monomial :

Watch Video Solution

−5pq2

84. State whether the expression is a

numerical

https://dl.doubtnut.com/l/_9zhnx5k13Q6o
https://dl.doubtnut.com/l/_WanorRq4P67q
https://dl.doubtnut.com/l/_kCyj7m7wSdJd


expression or an algebraic expression: 

Watch Video Solution

x + 1

85. State whether the expression is a

numerical 

expression or an algebraic expression: 

Watch Video Solution

3m2

86. State whether the expression is a

numerical 

https://dl.doubtnut.com/l/_kCyj7m7wSdJd
https://dl.doubtnut.com/l/_4XehHW5iPpyY
https://dl.doubtnut.com/l/_Ff9ysWrkw2UB


or an algebraic expression: 

Watch Video Solution

−30 + 16

87. State whether the expression is numerical

expression or an algebraic expression:

Watch Video Solution

4p2 − 5q2

88. State whether the expression is a

numerical 

https://dl.doubtnut.com/l/_Ff9ysWrkw2UB
https://dl.doubtnut.com/l/_aP3Tr1XZRdQE
https://dl.doubtnut.com/l/_mDKFEajfZtN5


expression or an algebraic expression: 96

Watch Video Solution

89. State whether the expression is numerical

expression or an algebraic expression:

Watch Video Solution

x2 − 5yz

90. State whether the expression is numerical

expression or an algebraic expression:

https://dl.doubtnut.com/l/_mDKFEajfZtN5
https://dl.doubtnut.com/l/_d0cRQk4R6VO3
https://dl.doubtnut.com/l/_OIUhjZ4ynvU1


Watch Video Solution

215x2yz

91. State whether the expression is numerical

expression or an algebraic expression:

Watch Video Solution

95 + 5 × 2

92. State whether the expression is numerical

expression or an algebraic expression: 2+m+n

https://dl.doubtnut.com/l/_OIUhjZ4ynvU1
https://dl.doubtnut.com/l/_BigRrT1yU3pl
https://dl.doubtnut.com/l/_vL3LNZlli1Xc


Watch Video Solution

93. State whether the expression is numerical

expression or an algebraic expression:

Watch Video Solution

310 + 15 + 62

94. State whether the expression is numerical

expression or an algebraic expression:

11a2 ÷ 6b2 − 5

https://dl.doubtnut.com/l/_vL3LNZlli1Xc
https://dl.doubtnut.com/l/_Lh2kq1pCLCFP
https://dl.doubtnut.com/l/_fQXhXQjji9JQ


Watch Video Solution

95. Find the degree of: 

Watch Video Solution

3x − 15

96. Find the degree of: 

Watch Video Solution

xy + yz

https://dl.doubtnut.com/l/_fQXhXQjji9JQ
https://dl.doubtnut.com/l/_lWtqrVEFEaXx
https://dl.doubtnut.com/l/_AjSiyI6YiJgJ


97. Find the degree of:

Watch Video Solution

2y2z + 9yz − 7z − 11x2y2

98. Find the degree of: 

Watch Video Solution

2y2z + 10yz

99. Find the degree of: 

Watch Video Solution

pq + p2q − p2q2

https://dl.doubtnut.com/l/_sQmrhOE1D43a
https://dl.doubtnut.com/l/_WFUPvxl4Bsc0
https://dl.doubtnut.com/l/_tRUXXekW17by


100. Find the degree of: 

Watch Video Solution

ax2 + bx + c

101. Write any two algebraic expressions with

four terms

Watch Video Solution

https://dl.doubtnut.com/l/_tRUXXekW17by
https://dl.doubtnut.com/l/_h78lFgzPs9wO
https://dl.doubtnut.com/l/_UM5DSHN3k6Vz


102. State whether the algebraic expression is

monomial, binomial, trinomial or multinomial:

Watch Video Solution

y2

103. State whether the algebraic expression is

monomial, binomial, trinomial or multinomial:

Watch Video Solution

4y − 7z

https://dl.doubtnut.com/l/_2ZZW116ZioId
https://dl.doubtnut.com/l/_Pe3eJNf6RuMC
https://dl.doubtnut.com/l/_1GNeNQYzIDeW


104. State whether the algebraic expression is

monomial, binomial, trinomial or multinomial:

Watch Video Solution

1 + x + x2

105. State whether the algebraic expression is

a 

monomial, binomial, trinomial or multinomial:

7mn

Watch Video Solution

https://dl.doubtnut.com/l/_1GNeNQYzIDeW
https://dl.doubtnut.com/l/_0drMJxhep4uQ


106. State whether the algebraic expression is

a 

monomial, binomial, trinomial or multinomial:

Watch Video Solution

a2 + b2

107. State whether the algebraic expression is

monomial, binomial, trinomial or multinomial:

100

Watch Video Solution

https://dl.doubtnut.com/l/_0IBQxyDNyFps
https://dl.doubtnut.com/l/_2aB1eX0rzpEQ


108. State whether the algebraic expression is

monomial, binomial, trinomial or multinomial:

Watch Video Solution

ax + 9

109. State whether the algebraic expression is

monomial, binomial, trinomial or multinomial:

Watch Video Solution

p2 − 3pq + r

https://dl.doubtnut.com/l/_2aB1eX0rzpEQ
https://dl.doubtnut.com/l/_VTsQo4InFyRH
https://dl.doubtnut.com/l/_dzlGyEOLjdzz


110. State whether the algebraic expression is

monomial, binomial, trinomial or multinomial:

Watch Video Solution

3y2 − x2y2 + 4x

111. State whether the algebraic expression is

monomial, binomial, trinomial or multinomial:

Watch Video Solution

7x2 − 2xy + 9y2 − 11

https://dl.doubtnut.com/l/_trBSJdUVgkal
https://dl.doubtnut.com/l/_vMmHAsHEx77x
https://dl.doubtnut.com/l/_rwpBseNhfRrq


112. Identify monomial, binomial, trinomial or

multinomial: 

Watch Video Solution

x + y

113. Identify monomial, binomial, trinomial or

multinomial: 

Watch Video Solution

xy − 3 − z

https://dl.doubtnut.com/l/_rwpBseNhfRrq
https://dl.doubtnut.com/l/_gUopuqtOgHMK


114. Identify monomial, binomial, trinomial or

multinomial: 

Watch Video Solution

x2

115. Identify monomial, binomial, trinomial or

multinomial: 

Watch Video Solution

2 + p

https://dl.doubtnut.com/l/_zRxU8UxA4wOW
https://dl.doubtnut.com/l/_jDAzHCcq0eWP


116. Identify monomial, binomial, trinomial or

multinomial: 

Watch Video Solution

x + y2 + z + 9 + k

117. Find the degree of: 

Watch Video Solution

3x − 15

118. Find the degree of: 

Watch Video Solution

3x2yz + 7xy

https://dl.doubtnut.com/l/_zThl9pFPaMFe
https://dl.doubtnut.com/l/_KsSKpX9XH9cE
https://dl.doubtnut.com/l/_stXJ2ji6f4xB


119. Find the degree of: 

Watch Video Solution

8xyz + 1

120. Find the degree of: 

Watch Video Solution

9p8 + 7p2 + p6 + 1

121. Identify the like terms abc, , , 

, 7abc.

3a2 4b2

− ab, − a2, − b2, − 4a27

4

https://dl.doubtnut.com/l/_stXJ2ji6f4xB
https://dl.doubtnut.com/l/_VU4dM6mcFMRQ
https://dl.doubtnut.com/l/_OeVpNFDctPSZ
https://dl.doubtnut.com/l/_H0JjCJijmkt4


Watch Video Solution

122. Fill in the blanks: Degree of 143 is.......

Watch Video Solution

123. Fill in the blanks: The value of  =........

Watch Video Solution

x0

124. Fill in the blanks:  is a.........x2 + x + 1

https://dl.doubtnut.com/l/_H0JjCJijmkt4
https://dl.doubtnut.com/l/_y7KTgpc5gqLe
https://dl.doubtnut.com/l/_GwvZLVGpfxJ1
https://dl.doubtnut.com/l/_CDGHkX5TNAmu


Watch Video Solution

125. Fill in the blanks: Coefficient of  in 

is.........

Watch Video Solution

xy 9xy

126. Find the sum of:  and 

Watch Video Solution

5x 7x

https://dl.doubtnut.com/l/_CDGHkX5TNAmu
https://dl.doubtnut.com/l/_nvPu11epwCkL
https://dl.doubtnut.com/l/_AZhKvDPVvYtO


127. Find the sum of: 

Watch Video Solution

7x2y and − 6x2y

128. Find the sum of: 2m, 11m

Watch Video Solution

129. Find the sum of: 

Watch Video Solution

18ab, 5ab and 12ab

https://dl.doubtnut.com/l/_4nFvClTfv7tl
https://dl.doubtnut.com/l/_7J69SkDGLRAI
https://dl.doubtnut.com/l/_sYDEClP278z5


130. Find the sum of: 

Watch Video Solution

3x2, − 7x2, 8c2

131. Find the sum of: 

Watch Video Solution

4m2, 3m2, − 6m2, m2

132. Find the sum of: 18pq, -15pq, 3pq.

Watch Video Solution

https://dl.doubtnut.com/l/_sEGcHH7mIgRP
https://dl.doubtnut.com/l/_XooQj08bsfxL
https://dl.doubtnut.com/l/_toMxrE1oINML


133. Additional bits: Degree of 9p is...............

Watch Video Solution

134. Additional bits: Degree of  is......

Watch Video Solution

−3xy2

135. Additional bits: Degree of 

is......

Watch Video Solution

xy + yz2 + 1

https://dl.doubtnut.com/l/_chZFhFzmUNGj
https://dl.doubtnut.com/l/_dQNc0UJ6bDW6
https://dl.doubtnut.com/l/_LHOEOsYk35kB


136. Degree of  is........

A. 1

B. 2

C. 3

D. 4

Answer:

Watch Video Solution

ac2 + bx + cy3

https://dl.doubtnut.com/l/_LHOEOsYk35kB
https://dl.doubtnut.com/l/_JBUomUtaUFPc
https://dl.doubtnut.com/l/_dzLhKvp0QZgQ


137. The Degree of  is .........

Watch Video Solution

2012

138. Additional bits: Degree of any constant

term is.........

Watch Video Solution

139. Additional bits: Degree of any 

is......

Watch Video Solution

xy2z2 + 1

https://dl.doubtnut.com/l/_dzLhKvp0QZgQ
https://dl.doubtnut.com/l/_fu0bQzFT7KgC
https://dl.doubtnut.com/l/_EHUUBBU3EzFn


140. Degree of '1' is …………

Watch Video Solution

141. Find the degree of: 

Watch Video Solution

xy + yz

142. What is the degree of the monomial :

xy2z2

https://dl.doubtnut.com/l/_EHUUBBU3EzFn
https://dl.doubtnut.com/l/_fCanSpHHg9Av
https://dl.doubtnut.com/l/_uaJBUge7O63U
https://dl.doubtnut.com/l/_KXhuERanTsTL


Watch Video Solution

143. Identify like terms:

Watch Video Solution

a2, b2, − 2a2, c2, 4a

144. Identify and write the like terms in:

Watch Video Solution

−2xy2, x2y, 5y2x, x2z

https://dl.doubtnut.com/l/_KXhuERanTsTL
https://dl.doubtnut.com/l/_lWD0CedJw7Fs
https://dl.doubtnut.com/l/_dA0RLf76mIsy


145. Identify monomial, binomial, trinomial or

multinomial: 

Watch Video Solution

y2

146. Identify monomial, binomial, trinomial or

multinomial:100+2y

Watch Video Solution

https://dl.doubtnut.com/l/_OStCDsbG3Ga0
https://dl.doubtnut.com/l/_utUbHFyRb4AB


147. Identify monomial, binomial, trinomial or

multinomial:

Watch Video Solution

a + b + c2

148. Identify monomial, binomial, trinomial or

multinomial:3xy

Watch Video Solution

https://dl.doubtnut.com/l/_vXH3Eo646hFc
https://dl.doubtnut.com/l/_wQ1NPubsZTJ1


149. Subtract the first term from second term:

2xy, 7xy

Watch Video Solution

150. Subtract the first term from second term:

, 

Watch Video Solution

5a2 10a2

https://dl.doubtnut.com/l/_tgv26Q1h1fW4
https://dl.doubtnut.com/l/_tc43OY2QTYOT


151. Subtract the first term from second term:

12y, 3y

Watch Video Solution

152. Subtract the first term from second term:

, 

Watch Video Solution

6x2y 4x2y

https://dl.doubtnut.com/l/_aOxjIHHAeIta
https://dl.doubtnut.com/l/_BlL2CbKzHERP


153. Subtract the first term from second term:

6xy-12xy

Watch Video Solution

154. Simplify: 

Watch Video Solution

3m + 12m − 5m

155. Simplify: 

Watch Video Solution

25yz − 8yz − 6yz

https://dl.doubtnut.com/l/_jLfZwQ2UdsIk
https://dl.doubtnut.com/l/_HJh5TbiGgzh8
https://dl.doubtnut.com/l/_8zOPeK6DVdWH


156. Simplify:

Watch Video Solution

10m2 − 9m + 7m − 3m2 − 5m − 8

157. Simplify:

Watch Video Solution

9x2 − 6 + 4x + 11 − 6x2 − 2x + 3x2 − 2

https://dl.doubtnut.com/l/_8zOPeK6DVdWH
https://dl.doubtnut.com/l/_9edt04TgqrjY
https://dl.doubtnut.com/l/_PrTj9tXSSiaO


158. Simplify: 

Watch Video Solution

2a2 − 4a2b + 7a2 − b2 − ab

159. Simplify:

Watch Video Solution

5x2 + 10 + 6x + 4 + 5x + 3x2 + 8

160. Write 5 different expressions in standard

form of degree 2.

https://dl.doubtnut.com/l/_y2azpCI0vZTD
https://dl.doubtnut.com/l/_HXsKJgmuGuBQ
https://dl.doubtnut.com/l/_wSW3s6aBStnC


Watch Video Solution

161. Write in standard form: 

Watch Video Solution

3x + 18 + 4x2

162. Write in standard form: 

Watch Video Solution

8 − 3X2 + 4x

163. Write in standard form: −2m + 6 − 3m2

https://dl.doubtnut.com/l/_wSW3s6aBStnC
https://dl.doubtnut.com/l/_IwPwHMNH6dgq
https://dl.doubtnut.com/l/_yr2sdhlmGu6G
https://dl.doubtnut.com/l/_99vW9GLr3bRv


Watch Video Solution

164. Write in standard form: 

Watch Video Solution

y3 + 1 + y + 3y2

165. Identify whether the given expression is in

standard form or not: 

Watch Video Solution

9x2 + 6x + 8

https://dl.doubtnut.com/l/_99vW9GLr3bRv
https://dl.doubtnut.com/l/_EPMh1BircPzu
https://dl.doubtnut.com/l/_l049gG5v5PAR


166. Identify whether the given expression is in

standard form or not: 

Watch Video Solution

9x2 + 15 + 7x

167. Identify the expression that are in

standard form or not: 

Watch Video Solution

9x2 + 7

https://dl.doubtnut.com/l/_1EnUUl6riXFS
https://dl.doubtnut.com/l/_kxvHi4dXIcpr


168. Identify the expression that are in

standard form or not: 

Watch Video Solution

9x3 + 15x + 3

169. Identify whether the given expression is in

standard form or not: 

Watch Video Solution

15x2 + x3 + 3x

https://dl.doubtnut.com/l/_GSA4tTJK1QJR
https://dl.doubtnut.com/l/_SkH9X3TvI57L


170. Identify the expression that are in

standard form or not: 

Watch Video Solution

x2y + xy + 3

171. Identify the expression that are in

standard form or not: 

Watch Video Solution

x3 + x2y2 + 6xy

172. if x=-6 Find the value of the expression -9x

https://dl.doubtnut.com/l/_lRxWN62noLs4
https://dl.doubtnut.com/l/_qDhsea3SrJp5
https://dl.doubtnut.com/l/_9i5ktvhSL0cu


Watch Video Solution

173. Write an expression in  whose value is

equal to , when x=3.

Watch Video Solution

x

−9

174. Find the length of the line segment PR in

the figure in terms of a. Find the perimeter of

the triangle.

https://dl.doubtnut.com/l/_9i5ktvhSL0cu
https://dl.doubtnut.com/l/_UJUsinMKvn8q
https://dl.doubtnut.com/l/_ybPISrvBYVFu


Watch Video Solution

https://dl.doubtnut.com/l/_ybPISrvBYVFu


175. Find the length of the line segment PR in

the figure in terms of a. Find the perimeter of

the rectangle.

Watch Video Solution

https://dl.doubtnut.com/l/_HwNNktWDT2kY
https://dl.doubtnut.com/l/_2XvkiYRKGL0q


176. Subtract the second term from first term:

Watch Video Solution

8x, 5x

177. Subtract the second term from first term:

Watch Video Solution

5p, 11p

https://dl.doubtnut.com/l/_2XvkiYRKGL0q
https://dl.doubtnut.com/l/_z5umBBiCZSfb


178. Subtract the second term from first term:

 , 

Watch Video Solution

13m2 2m2

179. Find the value of the monomial, : , if 

Watch Video Solution

−x

x = 1

https://dl.doubtnut.com/l/_PTZE4keXmob4
https://dl.doubtnut.com/l/_kkgjiAf46pNp


180. Find the value of the monomial :  , if

Watch Video Solution

4x

x = 1

181. Find the value of the monomial : , if

x=1

Watch Video Solution

−2x2

https://dl.doubtnut.com/l/_LwaYpNwsas6K
https://dl.doubtnut.com/l/_3Ivqn5wH6xCS


182. Simplify and find the value of




when 

Watch Video Solution

4x + x − 2x2 + x − 1

x = − 1

183. Write the expression

 in its

simplified form. Find its value when x= -2

Watch Video Solution

5x2 − 4 − 3x2 + 6x + 8 + 5x − 13

https://dl.doubtnut.com/l/_dP68RZiQDob5
https://dl.doubtnut.com/l/_mcsOJQT0WF7M
https://dl.doubtnut.com/l/_uXfx5TY1QS0N


184. Area of a rectangle is given by 

if L=9cm, b=6cm, find its area?

Watch Video Solution

A = l × b

185. Simple interest is given by . If

P=₹900, T= 2 years, and R=  find the simple

interest.

Watch Video Solution

I =
PTR

100

5 %

https://dl.doubtnut.com/l/_uXfx5TY1QS0N
https://dl.doubtnut.com/l/_mvMn0iW3FWur


186. The relationship between speed (s),

distance (d) and time (t) is given by 

find the value of s, if d=135 meters and t= 10

seconds.

Watch Video Solution

s =
d

t

187. If x=1, y=2 find the value of: 

Watch Video Solution

4x − 3y + 5

https://dl.doubtnut.com/l/_6T54WE2v6bXs
https://dl.doubtnut.com/l/_DM7nDKif5OtG


188. If x=1, y=2 find the value of: 

Watch Video Solution

x2 + y2

189. If x=1, y=2 find the value of: 

Watch Video Solution

xy + 3y − 9

https://dl.doubtnut.com/l/_6Fv76FuJKiIP
https://dl.doubtnut.com/l/_7FU0LQUddonb


190. Find the perimeter of the triangle.

Watch Video Solution

191. Find the perimeter of the rectangle .

https://dl.doubtnut.com/l/_Mi66g9tI0z3L
https://dl.doubtnut.com/l/_qofk47fBleon


Watch Video Solution

192. Find the value of:  , When 

Watch Video Solution

x3 + x2 + 1

x = − 2.

193. Find the value of:  ,When 

Watch Video Solution

x2 + 1

x = − 2.

https://dl.doubtnut.com/l/_qofk47fBleon
https://dl.doubtnut.com/l/_xZsEeWjigced
https://dl.doubtnut.com/l/_rZURZcSend2i
https://dl.doubtnut.com/l/_rrlPHVb6De2o


194. Find the value of:  , For 

Watch Video Solution

x2 + y

x = − 1 and y = 1.

195. Find the value of: , for 

Watch Video Solution

xy + y2x

x = − 1 and y = 1

https://dl.doubtnut.com/l/_rrlPHVb6De2o
https://dl.doubtnut.com/l/_d9lOtZYQT1rn


196. Area of rectangle is given by, , if

l =7cm, b=4cm then find the value of 

Watch Video Solution

A = l × b

A.

197. Find the value of  if 

Watch Video Solution

4x3 x = − 1

198. Find the value of  if x=1

Watch Video Solution

−2x2

https://dl.doubtnut.com/l/_xPdAQYkA2G30
https://dl.doubtnut.com/l/_WOGQ8eWPcled
https://dl.doubtnut.com/l/_pa4jl0uvrHQV


199. Area of a rectangle is given by 

if L=9cm, b=6cm, find its area?

Watch Video Solution

A = l × b

200. Simple interest is given by . If

P=₹900, T= 2 years, and R=  find the simple

interest.

Watch Video Solution

I =
PTR

100

5 %

https://dl.doubtnut.com/l/_pa4jl0uvrHQV
https://dl.doubtnut.com/l/_GegWpBr7sE2R
https://dl.doubtnut.com/l/_nPpQZDgCnmIL
https://dl.doubtnut.com/l/_EJW76VuI7JPZ


201. If x=1, y=2 find the value of: 

Watch Video Solution

x2 + y2

202. If x=1, y=2 find the value of: 

Watch Video Solution

xy + 3y − 9

203. Add the following terms: , 

Watch Video Solution

x − 2y 3x + 4y

https://dl.doubtnut.com/l/_EJW76VuI7JPZ
https://dl.doubtnut.com/l/_pA2ACQ8onmEw
https://dl.doubtnut.com/l/_SLghA8nZaDYL
https://dl.doubtnut.com/l/_CVhF6R13U5sB


204. Add the following terms:

, 

Watch Video Solution

4m2 − 7n2 + 5mn 3m2 + 5n2 − 2mn

205. Add the following terms: , 

Watch Video Solution

3a − 4b

5c − 7a + 2b

206. The value of  , if  is.......−3x x = − 3

https://dl.doubtnut.com/l/_CVhF6R13U5sB
https://dl.doubtnut.com/l/_MsUtLXokCsWo
https://dl.doubtnut.com/l/_cvWuN7zAToDt


Watch Video Solution

207. The Value of ,if  is........

Watch Video Solution

x2

3
x = 0

208. Subtract the second term from the first

term, 

Watch Video Solution

8x and 5x.

https://dl.doubtnut.com/l/_cvWuN7zAToDt
https://dl.doubtnut.com/l/_pnSQBz40MUWd
https://dl.doubtnut.com/l/_8tm6ukblr1OE


209. Additional bits: =..........

Watch Video Solution

112m2 − 13m2

210. Find the value of  if 

Watch Video Solution

x2 − x − 1 x = − 1

211. Find the value of  if 

Watch Video Solution

xy + y2x x = 1, y = 0

https://dl.doubtnut.com/l/_EAg75BVTRbPb
https://dl.doubtnut.com/l/_eyFnywsRWJxq
https://dl.doubtnut.com/l/_hFBpG7p0P5lp


212. If , then the value of

.........

Watch Video Solution

x = 2, y = − 1

x + y2 =

213. If  then the value of 

......

Watch Video Solution

x = − 1

−( − ( − x)) =

https://dl.doubtnut.com/l/_zLlTYmAKBnsA
https://dl.doubtnut.com/l/_HTV2vMWtKMmW


214. The Final Value of the Expression :

......

Watch Video Solution

3m + 12m − 4m =

215. The Final Value of the Expression

........

Watch Video Solution

5x + 7x − 2x =

https://dl.doubtnut.com/l/_TVtzMJAWf85S
https://dl.doubtnut.com/l/_jCsbucgiwZfw


216. Add the algebraic expressions using both

horizontal and vertical methods. And find out

did you get the same answer with both

methods: 

Watch Video Solution

x2 − 2xy + 3y2, 5y2 + 3xy − 6x2

217. Add the algebraic expressions using both

horizontal and vertical methods. And find out

did you get the same answer with both

https://dl.doubtnut.com/l/_oWzuSUBxFtsY
https://dl.doubtnut.com/l/_llYd5QhmLkHT


methods: , 3ab , , 

Watch Video Solution

4a2 + 5b2 + 6ab 6a2 − 2b2

4b2 − 5ab

218. Add the algebraic expressions using both

horizontal and vertical methods. And find out

did you get the same answer with both

methods: , , 2x-4y-z`

Watch Video Solution

2x + 9y − 7z 3y + z + 3x

https://dl.doubtnut.com/l/_llYd5QhmLkHT
https://dl.doubtnut.com/l/_x2aiqmRNnFRC


219. Add the algebraic expressions using both

horizontal and vertical methods. And find out

did you get the same answer with both

methods: , , 

Watch Video Solution

2x2 − 6x + 3 −3x2 − x − 4

1 + 2x − 3x2

220. Find the value of the perimeter of the

given Rectangle.

https://dl.doubtnut.com/l/_T2sksAd5OoP6
https://dl.doubtnut.com/l/_VDknDdVblu7N


Watch Video Solution

221. Find the perimeter of a triangle whose

sides are 2a+3b, b-a, 4a-2b

Watch Video Solution

https://dl.doubtnut.com/l/_VDknDdVblu7N
https://dl.doubtnut.com/l/_eeWqMvPFAsjp


222. Subtract the second expression from the

first expression: 2a+b, a-b

Watch Video Solution

223. Subtract the second expression from the

first expression: , 

Watch Video Solution

x + 2y + z −x − y − 3z

https://dl.doubtnut.com/l/_0Kewd4P39wWk
https://dl.doubtnut.com/l/_aKNtip4cqO5G


224. Subtract the second expression from the

first expression: , 

Watch Video Solution

3a2 − 8ab − 2b2

3a2 − 4ab + 6b2

225. Subtract the second expression from the

first expression: , 

Watch Video Solution

4pq − 6p2 − 2q2 9p2

https://dl.doubtnut.com/l/_xJEBPKKhJREn
https://dl.doubtnut.com/l/_UdCyA88XAvNb


226. Subtract the second expression from the

first expression: , 

Watch Video Solution

7 − 2x − 3x2 2x2 − 5x − 3

227. Subtract the second expression from the

first expression:

Watch Video Solution

5x2 − 3xy − 7y2, 3x2 − xy − 2y2

https://dl.doubtnut.com/l/_Zx4qp2Vsis5V
https://dl.doubtnut.com/l/_G9bZi8yckj9S


228. Subtract the second expression from the

first expression:

Watch Video Solution

6m3 + 4m2 + 7m − 3, 3m3 + 4

229. Simplify:

Watch Video Solution

2x2 + 5x − 1 + 8x + x2 + 7 − 6x + 3 − 3x2

https://dl.doubtnut.com/l/_acHlRW5EBvSV
https://dl.doubtnut.com/l/_lfW13gGsI77n


230. The sum of 3 expressions is

. Two of them are 

and . Find the third expression.

Watch Video Solution

8 + 13a + 7a2 2a2 + 3a + 2

3a2 − 4a + 1

231. Subtract the sum of  and 

 from the sum of 

 and 

Watch Video Solution

x2 − 5xy + 2y2

y2 − 2xy − 3x2

6x2 − 8xy − y2 2xy − 2y2 − x2

https://dl.doubtnut.com/l/_El5cod4wzEm3
https://dl.doubtnut.com/l/_C38TxO14hPwT
https://dl.doubtnut.com/l/_EYiC3rWrpoSt


232. A= , B= ,

C=  find A+B+C

Watch Video Solution

4x2 + y2 − 6xy 3y2 + 12x2 + 8xy

6x2 + 8y2 + 6xy

233. If A=  B= 

C= find (A-B)-C

Watch Video Solution

4x2 + y2 − 6xy 3y2 + 12x2 + 8xy

6x2 + 8y2 + 6xy

https://dl.doubtnut.com/l/_EYiC3rWrpoSt
https://dl.doubtnut.com/l/_ExCT2RNgCBE8


234. What should be added to 

to get ?

Watch Video Solution

1 + 2x − 3x2

x2 − x − 1

235. What should be taken away from

 to get 

Watch Video Solution

3x2 − 4y2 + 5xy + 20

x2 − y2 + 6xy + 20

https://dl.doubtnut.com/l/_9XBVO8FGUEUY
https://dl.doubtnut.com/l/_bW9vWuwGJDQR


236. Simplify: 

Watch Video Solution

21b − 32 + 7b − 20b

237. Simplify: 

Watch Video Solution

(3y2 + 5y − 4) − (8y − y2 − 4)

238. Subtract  from 

Watch Video Solution

24ab − 10b − 18a

30ab + 12b + 14a

https://dl.doubtnut.com/l/_GdvoZnVY2yby
https://dl.doubtnut.com/l/_pjAj5XFGEeu8
https://dl.doubtnut.com/l/_lIZcNDkhY32J


239. From the sum of  and -y-11

subtract 

Watch Video Solution

3x − y + 11

3x − y − 11

240. From the sum of  and 

 subtract the sum of 

and 

Watch Video Solution

4 + 3x

5 − 4x + 2x2 3x2 − 5x

−x2 + 2x + 5

https://dl.doubtnut.com/l/_lIZcNDkhY32J
https://dl.doubtnut.com/l/_IkWgQ62WkVdF
https://dl.doubtnut.com/l/_80tPBXc97CBg
https://dl.doubtnut.com/l/_8JVYyKY2sST4


241. Additional bits: =..........

Watch Video Solution

x2 + y2 − x2 + y2

242. Additional bits: 

=........

Watch Video Solution

x − y + z − x + y − z

243. Additional bits: =.........

Watch Video Solution

(a + b) − (a − b)

https://dl.doubtnut.com/l/_8JVYyKY2sST4
https://dl.doubtnut.com/l/_QZFfLwpQDfeQ
https://dl.doubtnut.com/l/_utaiVg4NzFmD


244. Additional bits: =.........

Watch Video Solution

−12xy − 6xy

245. If , then the value of 

........

Watch Video Solution

a = 3 and b = 2

a3 − b3 =

246. If , then the value of ........x = 2 4x − 3 =

https://dl.doubtnut.com/l/_utaiVg4NzFmD
https://dl.doubtnut.com/l/_ani8iAROFOoN
https://dl.doubtnut.com/l/_B3PiN4NoN3E9
https://dl.doubtnut.com/l/_QioNX1exkltT


Watch Video Solution

247. Additional bits: add m-n and m+n=..........

Watch Video Solution

248. Additional bits:

=....

Watch Video Solution

3mn − 5mn + 8mn − 4mn

https://dl.doubtnut.com/l/_QioNX1exkltT
https://dl.doubtnut.com/l/_2rh4FmJGWJZc
https://dl.doubtnut.com/l/_h32gtqr4fPSq


249. The simplified form of the given

Expression :  is .....

Watch Video Solution

3x − 11 − (7x − 5)

250. Simplify:

Watch Video Solution

2x2 + 5x − 1 + 8x + x2 + 7 − 6x + 3 − 3x2

https://dl.doubtnut.com/l/_dV0QpRlZHPat
https://dl.doubtnut.com/l/_UxPb9TICXIuw


251. Find the perimeter of a triangle whose

sides are 2a+3b, b-a, 4a-2b

Watch Video Solution

252. What should be added to 

to get ?

Watch Video Solution

1 + 2x − 3x2

x2 − x − 1

https://dl.doubtnut.com/l/_l51go3sUyl7n
https://dl.doubtnut.com/l/_28ybOCkI2XDt


253. Subtract the second expression from the

first expression: , 

Watch Video Solution

x + 2y + z −x − y − 3z

254. A= , B= ,

C=  find A+B+C

Watch Video Solution

4x2 + y2 − 6xy 3y2 + 12x2 + 8xy

6x2 + 8y2 + 6xy

https://dl.doubtnut.com/l/_qDkGv8KGzqvU
https://dl.doubtnut.com/l/_wmVqA6UxD4VQ


255. Write the statement using variables,

constants and arithmetic operations: 6 more

than p.

Watch Video Solution

256. Write the statement using variables,

constants and arithmetic operations: x is

reduced by 4.

Watch Video Solution

https://dl.doubtnut.com/l/_gTdzU7t1QrJw
https://dl.doubtnut.com/l/_3jUqX80GWReX
https://dl.doubtnut.com/l/_eCbTgMtyVqO2


257. Write the statement using variables,

constants and arithmetic operations: 8

subtracted from y.

Watch Video Solution

258. Write the statement using variables,

constants, and arithmetic operations: one-

fourth of the product of p and q.

Watch Video Solution

https://dl.doubtnut.com/l/_eCbTgMtyVqO2
https://dl.doubtnut.com/l/_f6G8Y7IKVWKO
https://dl.doubtnut.com/l/_ONHnUrJLvuBs


259. Write the statement using variables,

constants and arithmetic operations: 5 added

to the three times of z.

Watch Video Solution

260. State whether the expression is a

numerical

expression or an algebraic expression: 

Watch Video Solution

x + 1

https://dl.doubtnut.com/l/_ONHnUrJLvuBs
https://dl.doubtnut.com/l/_P0iEodEU0LKz


261. State whether the expression is a

numerical 

expression or an algebraic expression: 

Watch Video Solution

3m2

262. State whether the expression is a

numerical 

or an algebraic expression: 

Watch Video Solution

−30 + 16

https://dl.doubtnut.com/l/_tnGmSlIX1Ei6
https://dl.doubtnut.com/l/_6JPg0KE4bnM4
https://dl.doubtnut.com/l/_hLuv9tUxpuzA


263. State whether the expression is numerical

expression or an algebraic expression:

Watch Video Solution

4p2 − 5q2

264. State whether the expression is a

numerical expression or an algebraic

expression: 

Watch Video Solution

x2 − 5yz

https://dl.doubtnut.com/l/_hLuv9tUxpuzA
https://dl.doubtnut.com/l/_Lq54o9QW4wQz
https://dl.doubtnut.com/l/_RfqP5fQRn24Q


265. State whether the expression is numerical

expression or an algebraic expression:

Watch Video Solution

215x2yz

266. State whether the expression is numerical

expression or an algebraic expression:

Watch Video Solution

95 + 5 × 2

https://dl.doubtnut.com/l/_RfqP5fQRn24Q
https://dl.doubtnut.com/l/_e5WWyeEv1cFu


267. State whether the expression is numerical

expression or an algebraic expression: 2+m+n

Watch Video Solution

268. State whether the expression is numerical

expression or an algebraic expression:

Watch Video Solution

310 + 15 + 62

https://dl.doubtnut.com/l/_m5uwF1Dv51xV
https://dl.doubtnut.com/l/_nOhWjdGPU5QP


269. State whether the expression is a

numerical expression or an algebraic

expression: 

Watch Video Solution

11a2 + 6b2 − 5

270. Area of a rectangle is given by 

if L=9cm, b=6cm, find its area?

Watch Video Solution

A = l × b

https://dl.doubtnut.com/l/_jekyhFirhDKP
https://dl.doubtnut.com/l/_jUVm4oBUjTI0


271. Find the perimeter of the given Triangle.

Watch Video Solution

https://dl.doubtnut.com/l/_xJoRZmMAujwW
https://dl.doubtnut.com/l/_BUFhvbqcRlbr


272. Find the value of the Perimeter of the

given Rectangle.

Watch Video Solution

273. Find the value of the monomial, : , if 

Watch Video Solution

−x

x = 1

https://dl.doubtnut.com/l/_BUFhvbqcRlbr
https://dl.doubtnut.com/l/_Zy2NGvFaXnwK


274. Find the value of the monomial :  , if

Watch Video Solution

4x

x = 1

275. Find the value of the monomial : , if

x=1

Watch Video Solution

−2x2

https://dl.doubtnut.com/l/_Zy2NGvFaXnwK
https://dl.doubtnut.com/l/_IByWJcoaAq1a
https://dl.doubtnut.com/l/_kkP9eotaV2JQ


276. Write the expression

 in its

simplified form. Find its value when x= -2

Watch Video Solution

5x2 − 4 − 3x2 + 6x + 8 + 5x − 13

277. Simplify:

Watch Video Solution

2x2 + 5x − 1 + 8x + x2 + 7 − 6x + 3 − 3x2

https://dl.doubtnut.com/l/_sjY4TyDWn6zC
https://dl.doubtnut.com/l/_Uah1CPf82QWS


278. Find the perimeter of a triangle whose

sides are 2a+3b, b-a, 4a-2b

Watch Video Solution

279. Subtract the second expression from the

first expression: , 

Watch Video Solution

x + 2y + z −x − y − 3z

https://dl.doubtnut.com/l/_FVPF9BAvPbxC
https://dl.doubtnut.com/l/_wm0nIKcFifFo


280. Subtract the second expression from the

first expression: , 

Watch Video Solution

3a2 − 8ab − 2b2

3a2 − 4ab + 6b2

281. Subtract the second expression from the

first expression: , 

Watch Video Solution

7 − 2x − 3x2 2x2 − 5x − 3

https://dl.doubtnut.com/l/_zUdylMTtcjKI
https://dl.doubtnut.com/l/_NQLsiBrRs9hU


282. The sum of 3 expressions is

. Two of them are 

and . Find the third expression.

Watch Video Solution

8 + 13a + 7a2 2a2 + 3a + 2

3a2 − 4a + 1

283. draw the next two figures in the pattern.

Watch Video Solution

https://dl.doubtnut.com/l/_Y43aCxK5lmix
https://dl.doubtnut.com/l/_5ddhj3aq4B9R


284. fill the table given and express the

pattern in the form of an algebraic expression.

Watch Video Solution

285. Add the algebraic expressions using both

horizontal and vertical methods. And find out

did you get the same answer with both

https://dl.doubtnut.com/l/_5ddhj3aq4B9R
https://dl.doubtnut.com/l/_PogtSQvvEzvX
https://dl.doubtnut.com/l/_JHjIRbNmLQR1


methods: , 3ab , , 

Watch Video Solution

4a2 + 5b2 + 6ab 6a2 − 2b2

4b2 − 5ab

286. Add the algebraic expressions using both

horizontal and vertical methods. And find out

did you get the same answer with both

methods: , , 

Watch Video Solution

2x + 9y − 7z 3y + z + 3x

2x − 4y − z

https://dl.doubtnut.com/l/_JHjIRbNmLQR1
https://dl.doubtnut.com/l/_WjO7Oy344Uz8
https://dl.doubtnut.com/l/_LMfNOxBfW3oe


287. What is the degree of the monomial : 7y

Watch Video Solution

288. What is the degree of the monomial :

Watch Video Solution

−xy2

289. What is the degree of the monomial :

xy2z2

https://dl.doubtnut.com/l/_LMfNOxBfW3oe
https://dl.doubtnut.com/l/_cErDhEoSJquv
https://dl.doubtnut.com/l/_FFN7VTI9QVXH


Watch Video Solution

290. What is the degree of the monomial :

Watch Video Solution

−11y2z2

291. What is the degree of the monomial : 3mn

Watch Video Solution

https://dl.doubtnut.com/l/_FFN7VTI9QVXH
https://dl.doubtnut.com/l/_VxyLj1jFDzOM
https://dl.doubtnut.com/l/_6zvOmbKmNs3f


292. What is the degree of the monomial :

Watch Video Solution

−5pq2

293. If , then the value of 

.....

Watch Video Solution

x = 1 x2 − x + 1 =

https://dl.doubtnut.com/l/_nW5liWaXrTuG
https://dl.doubtnut.com/l/_eb8dNHg9ox0F


294. find the value of the expression 2x+x-

-2x+7x=......

Watch Video Solution

295. If , then the value of ........

Watch Video Solution

x = − 1 3x2 =

296. If , then the value of 

.......

x = 1 and y = 2

x2 − y2 =

https://dl.doubtnut.com/l/_JKhsNCs3EBUO
https://dl.doubtnut.com/l/_qYsv2tK5oaXI
https://dl.doubtnut.com/l/_PLNyVNUyzkhq


Watch Video Solution

297. 18pq-15pq-9pq=........

Watch Video Solution

298. Degree of 7pq is......

Watch Video Solution

299. Degree of the expression  is......18x3 + 7x2

https://dl.doubtnut.com/l/_PLNyVNUyzkhq
https://dl.doubtnut.com/l/_jhIkJ8DwCwV8
https://dl.doubtnut.com/l/_IEb6ABgKmsag
https://dl.doubtnut.com/l/_oIm21Zl6436g


Watch Video Solution

300. The Final Value of the Expression :

Watch Video Solution

13m + 12m − 5m = .......

301. The Final Value of the Expression :

Watch Video Solution

3a2 − a2 − a2 − a2 = ......

https://dl.doubtnut.com/l/_oIm21Zl6436g
https://dl.doubtnut.com/l/_tzOJoPGs53Ub
https://dl.doubtnut.com/l/_PFj0yRql0hxo
https://dl.doubtnut.com/l/_E9PZxvSccpbj


302. Perimeter of rectangle ......

Watch Video Solution

303. =.......

Watch Video Solution

2a + b − (a − b)

https://dl.doubtnut.com/l/_E9PZxvSccpbj
https://dl.doubtnut.com/l/_iZQiVmfKKTLG


304. Add the following terms: , 

Watch Video Solution

x − 2y 3x + 4y

305. =......

Watch Video Solution

3x + ( − 3x)

306. Simplify the given Expression :

.

Watch Video Solution

5x2 + 9x + 6 + 4x + 3x2 − 8 + 5 − 6x

https://dl.doubtnut.com/l/_mFTa4g4tQtYe
https://dl.doubtnut.com/l/_mXlft1WbNs0t
https://dl.doubtnut.com/l/_Dpkk7a2jxOc4


307. If , then the value of the

Expression : =......

Watch Video Solution

x = 1 and y = 0

x4 + y3

308. If , then the value of the

Expression .......

Watch Video Solution

x = − 3

−9x =

https://dl.doubtnut.com/l/_Dpkk7a2jxOc4
https://dl.doubtnut.com/l/_0Bdf3n1OcF88
https://dl.doubtnut.com/l/_3Hth1WFmIeqW


309. The Final Value of the Expression :

......

Watch Video Solution

8x − ( − 15x) =

310. The Degree of  is.......

Watch Video Solution

9

311. The Degree of  is.......

Watch Video Solution

2xyz

https://dl.doubtnut.com/l/_zoTocm1uTfDA
https://dl.doubtnut.com/l/_u5P0M0woBPVl
https://dl.doubtnut.com/l/_ZLvjc9oT0uQe


312. Degree of  is.....

Watch Video Solution

3x3 + 7x2 + 1

313. (True/false)  is in standard

form.

Watch Video Solution

7x2 + 2x − 1

314. (True/false) , , ,  are like terms.a2 b2 3a2 4b2

https://dl.doubtnut.com/l/_ZLvjc9oT0uQe
https://dl.doubtnut.com/l/_ttrJ9A8ljwCL
https://dl.doubtnut.com/l/_BsFy8VWHdQWP
https://dl.doubtnut.com/l/_SUmDFFNAAIx2


Watch Video Solution

315. (True/false) 3m, 4m ,8m, 6m are unlike

term.

Watch Video Solution

316. The Coefficient of the term  in the

Expression  is......

Watch Video Solution

mn

3mn

https://dl.doubtnut.com/l/_SUmDFFNAAIx2
https://dl.doubtnut.com/l/_9ItpIkTIKxAD
https://dl.doubtnut.com/l/_nmgADZRAshZN
https://dl.doubtnut.com/l/_Up5HjI6nMDYk


317. Number of terms in trinomial is.....

Watch Video Solution

318. Number of terms in Monomial is....

Watch Video Solution

319. The Value of the Expression ........

Watch Video Solution

(5x)0 =

https://dl.doubtnut.com/l/_Up5HjI6nMDYk
https://dl.doubtnut.com/l/_rt3TYNste61V
https://dl.doubtnut.com/l/_JVQ5sxPBxwT3
https://dl.doubtnut.com/l/_NdG7Ps2vX4PK


320. 9+(6-5)=........

Watch Video Solution

321. Number of terms in  is ........

Watch Video Solution

x + z + y + 1

322. Coefficient of x in 3x

Watch Video Solution

https://dl.doubtnut.com/l/_NdG7Ps2vX4PK
https://dl.doubtnut.com/l/_sEqja3xOkdFi
https://dl.doubtnut.com/l/_KGncMqia6q7v
https://dl.doubtnut.com/l/_0hOCP2NZZ2lj


323. The Symbolic form of :  multiplied by -7

is....

Watch Video Solution

p

324. Additive inverse of  is........

Watch Video Solution

−7x + 1

325. Which of the following are like terms-

A. a and a2

https://dl.doubtnut.com/l/_0hOCP2NZZ2lj
https://dl.doubtnut.com/l/_ZNPsxhYpjFn5
https://dl.doubtnut.com/l/_iQ1DbJn70QP8


B. 2c and 3c

C. a,b

D. None

Answer:

Watch Video Solution

326. Final Value of the Expression

A. 

3x − 2x − 2x =

−x

https://dl.doubtnut.com/l/_iQ1DbJn70QP8
https://dl.doubtnut.com/l/_8G1OCiRwWFFP


B. 

C. 

D. 

Answer:

Watch Video Solution

5x

2x

3x

327. =

A. 3a

B. 2a

2a + b + a − b

https://dl.doubtnut.com/l/_8G1OCiRwWFFP
https://dl.doubtnut.com/l/_7jeESP20LduH


C. 8a

D. -a

Answer:

Watch Video Solution

328. The value of the Expression :

A. 7

B. 1

7 − 2x + 2x + 1 =

https://dl.doubtnut.com/l/_7jeESP20LduH
https://dl.doubtnut.com/l/_TpfzWMVgU1mY


C. 9

D. 8

Answer:

Watch Video Solution

329. An expression containing two terms is

called .......

A. Monomial

B. Binomial

https://dl.doubtnut.com/l/_TpfzWMVgU1mY
https://dl.doubtnut.com/l/_jeH8snAteIn0


C. Trinomial

D. None

Answer:

Watch Video Solution

330. The Value of the Expression :

......

A. 

B. 

6xy − 2xy + 1 =

4xy

4x + 1

https://dl.doubtnut.com/l/_jeH8snAteIn0
https://dl.doubtnut.com/l/_RY3oblRsepkm


C. 

D. 

Answer:

Watch Video Solution

4xy + 1

2xy − 1

331. The degree of any constant term is.....

A. 8

B. -2

C. 0

https://dl.doubtnut.com/l/_RY3oblRsepkm
https://dl.doubtnut.com/l/_CHeYJvCGHp8x


D. 1

Answer:

Watch Video Solution

332. The final value of the Expression :

A. -2b

B. a

C. -2

a − b − b − a =

https://dl.doubtnut.com/l/_CHeYJvCGHp8x
https://dl.doubtnut.com/l/_SOvDCym2aKYv


D. 8a

Answer:

Watch Video Solution

333. If  then the

value of 

A. 

B. 

C. a-b

A = a + b and B = b − c

A + B =

a + 2b − c

a − b + c

https://dl.doubtnut.com/l/_SOvDCym2aKYv
https://dl.doubtnut.com/l/_NgRR5htQDZJc


D. c-a

Answer:

Watch Video Solution

334.  is an example of......

A. Monomial

B. Binomial

C. Trinomial

D. None

3x2 + 7x + 1

https://dl.doubtnut.com/l/_NgRR5htQDZJc
https://dl.doubtnut.com/l/_AYqDEPWoEXZp


Answer:

Watch Video Solution

335. Monomial contains..........terms.

A. 2

B. 3

C. 4

D. 1

Answer:

https://dl.doubtnut.com/l/_AYqDEPWoEXZp
https://dl.doubtnut.com/l/_uCwUOl1nKQkL


Watch Video Solution

336. Additive inverse of  is -

A. 4a

B. -3

C. 3a

D. 8

Answer:

Watch Video Solution

−3a

https://dl.doubtnut.com/l/_uCwUOl1nKQkL
https://dl.doubtnut.com/l/_kK0cGyvHtfm7


337. For , The Value of the Expression : 

A. 1

B. 2

C. 3

D. 0

Answer:

Watch Video Solution

x = 1

x2 + 1 =

https://dl.doubtnut.com/l/_kK0cGyvHtfm7
https://dl.doubtnut.com/l/_nDkQmkUfm8op
https://dl.doubtnut.com/l/_3lyvw8dlbHGX


338. The Final Value of the Expression :

A. 3p

B. 4p

C. 8p

D. p

Answer:

Watch Video Solution

5p − 6p + 4p =

https://dl.doubtnut.com/l/_3lyvw8dlbHGX
https://dl.doubtnut.com/l/_9u6GGQWt56Om


339. The Simplified Form of the Expression :

A. 

B. 

C. 

D. None

Answer:

Watch Video Solution

3c + 6a − 2b − (3a + 4b − 2c) =

3a − 6b + 5c

a − 6b + 5c

8a − b

https://dl.doubtnut.com/l/_9u6GGQWt56Om


340. Perimeter of a triangle is-

A. 

B. 

C. 

a − b + c

a − b − c

a + b + c

https://dl.doubtnut.com/l/_FqKyKEwLmbD2


D. b-c

Answer:

Watch Video Solution

341. The Simplified form of the Expression :

A. 

B. 

C. 

2x2 − 6x + 3 − 3x2 − x =

x − 3

x2 + 3

x2 − 7x + 3

https://dl.doubtnut.com/l/_FqKyKEwLmbD2
https://dl.doubtnut.com/l/_WttXVkljfd1O


D. 

Answer:

Watch Video Solution

−x2 − 7x + 3

342. The Given Expression  is an

example of......

A. Trinomial

B. Binomial

C. Multinomial

a + b + c

https://dl.doubtnut.com/l/_WttXVkljfd1O
https://dl.doubtnut.com/l/_MfTSIX8b20dy


D. None

Answer:

Watch Video Solution

343. If , then the value of 

A. 3

B. 4

C. 0

x = 0 and y = 1

x + y2 =

https://dl.doubtnut.com/l/_MfTSIX8b20dy
https://dl.doubtnut.com/l/_IDTfnz3kse4f


D. 1

Answer:

Watch Video Solution

344. Area of A Rectangle is given by ,

if , then 

A. 3

B. 8

C. 18

A = l × b

l = 6cm and b = 3cm A =

https://dl.doubtnut.com/l/_IDTfnz3kse4f
https://dl.doubtnut.com/l/_RrtzuzZnr2qO


D. 118

Answer:

Watch Video Solution

345. If , then the value of 

A. 12

B. 2

C. 8

D. 9

x = − 2 x2 − 2 =

https://dl.doubtnut.com/l/_RrtzuzZnr2qO
https://dl.doubtnut.com/l/_yvKyBfRqyjG9


Answer:

Watch Video Solution

346. Which of the following is in the standard

form?

A. 

B. 

C. 

D. 

x2 + x

x + y2

x2 + 1

x2 + x + 1

https://dl.doubtnut.com/l/_yvKyBfRqyjG9
https://dl.doubtnut.com/l/_Hs1nBm9hur8Z


Answer:

Watch Video Solution

347. Degree of 0 is.....

A. 0

B. 9

C. 1

D. -1

Answer:

https://dl.doubtnut.com/l/_Hs1nBm9hur8Z
https://dl.doubtnut.com/l/_Q2g9aMJBBuMF


Watch Video Solution

348. The Final value of the Expression :

A. mn

B. 0

C. 2mn

D. 2

Answer:

mn − mn + 2mn =

https://dl.doubtnut.com/l/_Q2g9aMJBBuMF
https://dl.doubtnut.com/l/_1Ag3xPeHrdkg


Watch Video Solution

349. Additive inverse of 

A. -a+b

B. 

C. a-b

D. None

Answer:

Watch Video Solution

a − b + c =

−a + b − c

https://dl.doubtnut.com/l/_1Ag3xPeHrdkg
https://dl.doubtnut.com/l/_4siGe7TyUMsa



